
SAP ABAP table JITDIAIT {JIT : Dialog Structure for JITIT}

JITDIAIT

ABLAD [CHAR (25)]

LIUMF [CHAR (18)]

EXTST [CHAR (4)]

INTST [CHAR (4)]

VBELN_VL [CHAR (10)]

CJIT02

MANDT [CLNT (3)]

EXTST [CHAR (4)]
 JITDIAIT-EXTST = CJIT02-EXTST 0..N

1

CJIT04

MANDT [CLNT (3)]

INTST [CHAR (4)]

 JITDIAIT-INTST = CJIT04-INTST 
0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 JITDIAIT-LIUMF = MARA-MATNR 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JITDIAIT-VBELN_VL = VBUK-VBELN 

0..N

{0,1}


